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Qsmrw hi jvekmpmxí wsgmepi. yri qimppiyvi mrwivxmsr hiw niyriw

Hi rsqfviy| mrhmgexiyvw mrhmuyirx yri qsmrhvi jvekmpmxí wsgmepi herw pi WGsX uyi herw

YR` _tSt_R[aVRY`) ;R` V[QVPNaRb_` P\[PR_[R[a YR` _RcR[b`' YR` P\[QVaV\[` QhRZ]Y\V' Ra YN

wxvygxyvi jeqmpmepi0 Tevqm piw 3= mrhmgexiyvw vítivxsvmíw. pi Wyh Zmirri iwx qmiy| tpegí uyi

pi Vg wyv 37 mrhmgexiyvw ix uyi pi Vt uyi wyv = mrhmgexiyvw0 Ezig qsmrw hi few viziryw

$c\V_ QtSV[VaV\[`% QR PUvZNTR' QhRZ]Y\V` ]_tPNV_R` $c\V_ QtSV[VaV\[`%' QR SNZVYYR`

qsrstevirxepiw. pi WGsX etteveòx qsmrw jvekmpi wyv piw tvmrgmtey| mrhmgexiyvw0

Mppywxvexmsr 47 > Pi WGsX wsgmepiqirx qsmrw jvekmpi
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WGSX Wyh/Zmirri

Víjívirxmip Tvsgli

Víjívirxmip Gsrwxvymx

Wsyvgiw > Mrwii. Vigirwiqirx hi pe tstypexmsr 4233 i|tpsmxexmsr tvmrgmtepi ix i|tpsmxexmsr gsqtpíqirxemvi ?
Grej 4234 ? Greq 4234

ChV[`R_aV\[ QR` WRb[R` `b_ YR ZN_PUt Qb a_NcNVY R`a ZRVYYRb_R `b_ YR aR__Va\V_R ^bR QN[` YR`

víjívirxmipw0 Mpw wsrx tpyw eyxsrsqiw *zsmv híjmrmxmsr+. srx tpyw jegmpiqirx yr iqtpsm. ix piyv

RZ]Y\V R`a Z\V[` `\bcR[a ]_tPNV_R) CN ]N_a QR ;<A \b QhRZ]Y\V` QR YN S\[PaV\[ ]bOYV^bR

gli~ piw 3;/46 erw hy Wyh Zmirri iwx hi 49.7 '0 Mpw wsrx 47.5 ' ix 46.5 ' herw piw Vt ix

Vg0 44.5 ' hi gixxi tstypexmsr hy WGsX ri wsrx rm íxyhmerxw. rm ir iqtpsm. gsrxvi 48.5 '

herw pi Vt ix 4;.2 ' herw pi Vg0 75.8 ' hiw niyriw rsr íxyhmerxw hy xivvmxsmvi wsrx

Nba\[\ZR`) CR` I] Ra IP R[ P\Z]aR[a /2'+ " Ra /0'2 ") ChRSSRa k QV]YvZR m ]R_ZRa QR

nywxmjmiv tevxmippiqirx giw glmjjviw0 Emrwm. tevqm piw 42/46 erw rsr wgspevmwíw hy WGsX.

39.5 ' wsrx werw hmtpøqi sy ezig yr FIT sy GET0 Mpw wsrx 3=.5 ' herw pi Vt ix 43.3 '

herw pi Vg0



# Mrwii Hswwmiv Tsmxsy/Glevirxiw r´ 4 / Nymr 4237 58

Hiw viziryw píkìviqirx tpyw jemfpiw qemw tpyw lsqskìriw

Piw viziryw herw pi Wyh Zmirri srx yr tvsjmp wiqfpefpi ä giy| hy Vt ix mpw wsrx tpyw

jemfpiw uyi herw pi Vg0 Ir 4233. pi viziry rix mqtswefpi qs}ir erryip tev js}iv jmwgep iwx

hi 3= 574$. ix pi viziry qíhmer tev yrmxí hi gsrwsqqexmsr *YG. zsmv híjmrmxmsrw+ iwx hi

38 798$0 Mpw wsrx hi 3= 662$ ix 38 974$ herw pi Vt ix hi 42 2=3$ ix 38 =9=$ herw pi Vg0

CR JP\a ]_t`R[aR PR]R[QN[a Z\V[` QR ON` _RcR[b`' Ra Q\[P Z\V[` QhV[tTNYVat`) ,2'+ " QR

pe tstypexmsr hy WGsX zmx ezig yr few viziry ir 4234. gsrxvi 39.3 ' herw pi Vt ix 3;.9 '

QN[` YR IP) ChV[QVPR QR QV`]R_`V\[ QR ?V[V $c\V_ QtSV[VaV\[`% R`a QR +'.,3 R[ -+,, QN[` YR

WGsX. 2.539 herw pi Vt 2.54= herw pi Vg0 Ix piw vettsvxw mrxiv/hígmpiw *zsmv híjmrmxmsrw+

wsrx hi 6.5. 6.4 ix 6.70 Gitirherx. piw viziryw eykqirxirx ir qîqi xiqtw uyi piw

mríkepmxíw wi gviywirx0 Hitymw 4228. pi viziry rix mqtswefpi qs}ir erryip tev js}iv jmwgep

e eykqirxí hi =27$ herw pi WGsX. hi 3 264$ herw pi Vt. ix hi 3 264$ herw pi Vg0 Epsvw

uyi pe tstypexmsr ä few viziryw e eykqirxí hi 5.2 ' tev er herw pi WGsX irxvi 422= ix

4234. 4.5 ' herw pi Vt ix 4.7 ' herw pi Vg tev er wyv xvsmw erw0

Mppywxvexmsr 48 > Yri wxvygxyvi hi viziryw tvsgli irxvi pi WGsX ix pi Víjívirxmip
tvsgli *Vt+

Wxexmwxmuyiw hi rmziey ix hi hmwtivwmsr wyv piw viziryw

WGsX Wyh Zmirri Víjívirxmip Tvsgli Víjívirxmip Gsrwxvymx

Viziry mqtswefpi rix qs}ir erryip
tev js}iv jmwgep 3= 574 $ 3= 662 $ 42 2=3 $

Viziry qíhmer tev YG 38 798 $ 38 974 $ 38 =9= $

Tstypexmsr ä few viziry 39.2' 39.3' 3;.9'
Mrhmgi hi Kmrm 2.53; 2.539 2.54=
Vettsvx mrxiv/hígmpiw 6.5 6.4 6.7

Wsyvgi > Mrwii/HKJmT. Mqtøx wyv pi viziry hiw tivwsrriw tl}wmuyiw 4233. Viziryw jmwgey| psgepmwíw hiw
qírekiw ? Grej 4234

Hiw wxvygxyviw hi viziryw hmjjívirxiw wyv pi WGsX

Piw viziryw hy WGsX tvszmirrirx qsmrw hiw wepemviw ix tpyw hiw vixvemxiw uyi herw piw

víjívirxmipw0 Ir 4233. 72.4 ' hiw viziryw jmwgey| hiw qírekiw hy Wyh Zmirri wsrx hiw

viziryw wepevmey|. gsrxvi 73.4 ' herw pi Vt ix 74.8 ' herw pi Vg0 Pe hmjjívirgi ezig pi

Vg tsvxi wyv piw viziryw tvszirerx hiw vixvemxiw *57.3 ' gsrxvi 55.5 '+0 Gippi ezig pi Vt

tsvxi wyv piw viziryw hiw tvsjiwwmsrw rsr wepevmíiw ix piw eyxviw viziryw0

Piw viziryw wsrx xvìw hmjjívirxw wyv pi xivvmxsmvi. uyi gi wsmx herw piyv gsqtswmxmsr sy ir

rmziey0 Piw viziryw piw tpyw ípizíw wi wmxyirx herw pe ferhi tívmyvfemri ix tvszmirrirx

hezerxeki hiw wepemviw0 Piw viziryw piw tpyw jemfpiw wi wmxyirx herw yri ~sri eyxsyv hi

YhA`YR(B\b_QNV[ Ra ^bV `htaNYR cR_` Yh\bR`a) ;hR`a tTNYRZR[a Yp \w YR` ]Yb` S\_aR` V[tTNYVat` QR

viziry wsrx sfwivzíiw0 Lsvqmw eyxsyv hi Gmzve}. xsyxi pe ferhi wyh hy xivvmxsmvi tswwìhi

YN ]Yb` T_N[QR ]N_a QR _RcR[b` ]_\cR[N[a QR _Ra_NVaR`) ;hR`a tTNYRZR[a YR PN` ]\b_ a\ba YR

aR__Va\V_R p YhR`a QR D\[aZ\_VYY\[)
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Mppywxvexmsr 49 > Hiw hmwtevmxíw hi viziryw wyv pi xivvmxsmvi

Gevxskvetlmi hi pe gpewwmjmgexmsr jemxi wyv piw viziryw

P)Mwpi/NsyvhemrP)Mwpi/NsyvhemrP)Mwpi/NsyvhemrP)Mwpi/NsyvhemrP)Mwpi/NsyvhemrP)Mwpi/NsyvhemrP)Mwpi/NsyvhemrP)Mwpi/NsyvhemrP)Mwpi/Nsyvhemr

Kirëe}Kirëe}Kirëe}Kirëe}Kirëe}Kirëe}Kirëe}Kirëe}Kirëe}

Pywweg/piw/Glæxiey|Pywweg/piw/Glæxiey|Pywweg/piw/Glæxiey|Pywweg/piw/Glæxiey|Pywweg/piw/Glæxiey|Pywweg/piw/Glæxiey|Pywweg/piw/Glæxiey|Pywweg/piw/Glæxiey|Pywweg/piw/Glæxiey|

QsrxqsvmppsrQsrxqsvmppsrQsrxqsvmppsrQsrxqsvmppsrQsrxqsvmppsrQsrxqsvmppsrQsrxqsvmppsrQsrxqsvmppsrQsrxqsvmppsr

GsylíGsylíGsylíGsylíGsylíGsylíGsylíGsylíGsylí

Gmzve}Gmzve}Gmzve}Gmzve}Gmzve}Gmzve}Gmzve}Gmzve}Gmzve}

Hsrríiw tsyv gleuyi gpewwi hiw zevmefpiw hi pe gpewwmjmgexmsr

Gpewwi Viziry qíhmer
Vettsvx mrxiv

hígmpiw
Tevx hi few

viziryw *ir '+
Viziryw

wepevmey| *ir '+
Viziryw rsr

wepemvmey| *ir '+ Vixvemxiw *ir '+

G3 3;3=3 5.7 33 84.6 ;.8 45.7
G4 38==2 6 37.; 74.9 8.7 57
G5 3788= 6.5 39.8 64.3 34.7 5=.5
G6 37645 7.6 46 65.9 ; 62.;
WGsX 38798 6.5 38.= 72.4 ;.7 57.3

Wsyvgi > MRWII/HKJmT. Viziryw jmwgey| psgepmwíw hiw qírekiw

Píkirhi >
;, 5 IRcR[b` b[VS\_ZtZR[a tYRct`' ]_\cR[N[a QhNPaVcVat ]_\SR``V\[[RYYR Ra R[
kverhi qensvmxí hi wepemviw0
G4 > Viziryw gsvvigxw ezig píkìviqirx qsmrw hi viziryw rsr wepevmey| ey
tvsjmx hiw wepemviw0
G5 > Viziryw tpyw jemfpiw0 Qsmrw hi wepemviw ey tvsjmx hiw vixvemxiw ix hiw
viziryw rsr wepevmey|0
G6 > Viziryw tpyw jemfpiw0 Hi kvswwiw mríkepmxíw hi viziry ezig rsxeqqirx
fieygsyt hi few viziryw0 Qsmrw hi wepemviw ey tvsjmx hiw vixvemxiw0


